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SR = 148, 842, 126
T = 2,999, 758
BT = 156, 658 | BEIA (FELE) B+ 20 m3
2. bmAi ;
PR (L) i+ 4 m3
2. 5mPL_F4. OmRTii ;
A 30 m3
T Casl- AR £E&Te) ;
FEIA (b-27) 30 m3
+# 850, 000m3 il ;
B+ T.(1CT) = 2,843, 100 | &R (FLER) B 4= (1CT) 1, 800 m3
A 1, 800 m3
T Casl- AR L&) ;
FEiA Oy=2") 1, 800 m3
+# +H50, 000m3 il ;
s R T = 11, 041, 947
& T = 11,041,947 |HJEIRA AL 1,579 m3
WEVERE 2.5m fE CHE 1579m3 ;
HERE T 2V 70, 693, 981
e T 2V 906, 532 | KHE 1 =
+#)
WERL 1 =
I RKIREE ImEL b AmA T
PR L 1 =X
S/ MERIEALL E
HmFEIE 1 =X
W FTHERE T (Ha 4 BAT) =X 8,853, 789 | /|NEIHERE 1 m3
H=945 0.8mPL 1. OmBLF 18-8-40 (B ¥F) ;
) eRE 92 m3

H=3600 2mPL -5mPL T 18-8-40 (;F4F) ;
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H=3250 2mbk 5mEL T 18-8-40 (&4F)
EEWAE:W i 8 m3
H=1500 1m% 8z 2mATM 18-8-40 (EikF) ;
7" VR AL pRRE L = 1 964, 841 |7 V¥vaMBERE 5 m
H=900 0.5mLL E1. OmEAF
7" Vv A M ERE 20 m
H=1200~1500 1.0m%Z #H %2. 0OmLA T ;
7" VA MERE T = 1 4,481,867 |7° Vv gERE 12 m
H=3250 2. 0m%Z #8 %3.5mLL T
7" Vv A MERE 3 m
H=3600 3.5m% #8 25. 0mLL T ;
7" VR ALMpRRE L = 1 322,100 |77 V¥yabBERE 2 m
H=3000 2.0m% #8 %3.5mLL T ;
7" VR YA MAERE T = 1 55, 164, 852 | FLpEAS 350 m2
ATy 17/40~0 BIE 0. 2m ;
By Lavy)-k 344 m2
18-8-40 (FF)W/CIEEM L HJE 10cm ;
EVZIE 197 m3
7=F777)
24-12-25(20) (&¥F) ;
EVZIE 88 m3
(FedEav))-)
30-12-25(20) (= H7) ;
ki 17.77 t
(SLEE)
SD345 D16~25 ;
ki 2.15 t
T=F277)
SD345 D13 ;
EZ8i1) 16. 43 t
T=F277)
SD345 D16~25 ;
H itk 16 m2
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T XSy « THE - FERB Bz & & B il Ell 7
T-F277)
TR HHEE B b t=10 ;
TP ! A
-Fv77)
— A
s 1 2V
BRIy N
HERB R 1 564 m
(78E) BRAIRFEARE)
ZEAKvy b 30X300 ;
THL7 ny ) FEHERE 618 m2
fFEWR%IE T = 238, 100
P T = 238,100 |BLIGFTIE B 1 & P
18-8-40 (&) FAEI79V%7/40~0
B T = 259, 234
VAR = 259,234 | TIE ik (G - B E) 47 m2
HAEITyveFy RC-40 f+ Y E 150mm ;
20— Mifi%E 47 m2
18-8-40 (Fm)F) &hiZEE 150mm ;
EMIEE T # 10, 950, 044
BT # 1,023,803 |4 (FEE8) Ak - 80 m3
2. AT
BRI 1 190 m3
2. 5mPL B4, OmATi ;
Twh 300 m3
T G- ERR Y £&Te)
A (v=27) 300 m3
+ +E50, 000m3AN ;
%+ T (ICT) = 6,829,905 | BE{A (L) A& 1+ (ICT) 3, 500 m3
IR 1 (ICT) 430 m3
L Rb S el 4, 360 m3
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T Casl- AR £E&Te) ;
FEIA (b-27) 4, 400 m3
+# 850, 000m3 Kl ;
EmEFEH T.(ICT) = 1 113,463 |{EmEER (B L5) (ICT) 210 m2
LTS O L,
T = 1 555, 720 | 7" VA AT AT 60 m
T8 55cm EE 15.5¢m 350 #:hav)-bLIk (
550 X 155 X 600) ;
BB A L = 1 577,920 |H =N V= 60 m
BAEH, Gr-C-4E 50mPA_-100maAeli i 1
4 -
TA7 7 M 2L T = 1 1,428,104 | FEKME (HE - BEE) 435 m2
HAEI79v%77 RC-40 {1 Y& 150mm ;
b A (B - BT ES) 435 m2
LR RS M-30 /L EVE 100mm ;
g (HaE - B 435 m2
FABRIET A2/ (20) 452 50mm 3. Omif ;
TAT 7 MEEE T 2V 1 358,399 | TJE &M (HREHR) 138 m2
HAEITyveFy RC-40 f+ YD E 100mm ;
5 (AEE) 138 m2
ﬁi{ﬁﬁuﬁ)’ﬂ/(l‘?) AEAEE A0mm 1. 4mPh b
X 1 = 1 62, 730 /@mﬂtl: R 180 m
ﬁﬂ‘t%5§h 243 15em JE1. 5mm HEACHESELE
SR AR T = 1 35, 517, 960
IRSLERESE T = 1 35,517,960 |inAalE 1 X
HEEL = 1 6,451, 682
M L T S I 3,744,817 |27 )- Mkt st L 81 m3
MERHREEY) BhiE L ;
Sl R DT 5 m
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il 51l

/)Y - MfZERR 15emBPL T
A R A

/)Y -MEHEENR EEERRUE 10~15cm ;
A R A

TAT 7V IMEHZENR ESERUE B e m

930 m2

3,700 m2

7" my )R T

256, 009

A/ p=nyXv ) 7y IS
t=6cm ;

317 m2

TR LB T

2,450, 856

EE

vy bk (BER%)
HE

(av )V -ElEERR)

vy —-hidk (BER%) 5
HE

TAT 7N
ALy

vy —-hidk (BER%) 5
ALy

(27 = MahEERR)

270 =Mk (BEFT)
By

TAT7 Vb

103 m3

98 m3

185 m3

103 m3

98 m3

185 m3
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10, 689, 420
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10, 088, 220

5,

601, 200
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148, 842, 126

5,

18, 198, 143
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4,371, 143
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TR = 1 1,851, 000 | E5 A B ik o i ST i 05 2 1 =

H ke B = 1 1,179, 143 | A{li/n Ay B2y 1 =

FRSFE R (ICT) 1 =

VAT AR (ICT) 1 =
BIGREWEE (F5H) = 1 1, 341, 000
G (FEH ) = 1 13, 827, 000
TR = 1 167, 040, 269
Bl E o = 1 48, 756, 000
T35 = 1 215, 796, 269
— RS PR A = 1 33, 373, 731
T Al = 1 249, 170, 000
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